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Όσο	
  παράξενο	
  κι	
  αν	
  ακούγεται,	
  ο	
  υπολογιστής	
  είναι	
  μία	
  μηχανή	
  που	
  
μπορεί	
  να	
  εκτελέσει	
  μόνο	
  τις	
  τρεις	
  παρακάτω	
  λειτουργίες:	
  	
  
	
  
πρόσθεση,	
  η	
  οποία	
  αποτελεί	
  τη	
  βασική	
  αριθμητική	
  πράξη,	
  δεδομένου	
  ότι	
  
και	
  οι	
  άλλες	
  αριθμητικές	
  πράξεις	
  μπορούν	
  να	
  αντιμετωπιστούν	
  ως	
  
διαδικασίες	
  πρόσθεσης	
  
σύγκριση,	
  η	
  οποία	
  συνιστά	
  τη	
  βασική	
  λειτουργία	
  για	
  την	
  επιτέλεση	
  όλων	
  
των	
  λογικών	
  πράξεων	
  	
  
μεταφορά	
  δεδομένων,	
  λειτουργία	
  που	
  προηγείται	
  και	
  έπεται	
  της	
  
επεξεργασίας	
  δεδομένων	
  	
  
	
  
Με	
  βάση	
  αυτές	
  τις	
  τρεις	
  λειτουργίες	
  ο	
  υπολογιστής	
  διεκπεραιώνει	
  όλες	
  τις	
  
εργασίες	
  που	
  του	
  αναθέτονται	
  και	
  επιλύει	
  όλα	
  τα	
  προβλήματα	
  που	
  
αναλαμβάνει.	
  	
  
	
  









	
  Επιλύσιμα:	
  Είναι	
  τα	
  προβλήματα	
  των	
  οποίων	
  η	
  λύση	
  είναι	
  ήδη	
  γνωστή	
  και	
  έχει	
  	
  
διατυπωθεί.	
  Επίσης	
  ως	
  επιλύσιμα	
  μπορούν	
  να	
  χαρακτηριστούν	
  και	
  τα	
  προβλήματα	
  
των	
  οποίων	
  η	
  λύση	
  δεν	
  έχει	
  ακόμα	
  διατυπωθεί,	
  αλλά	
  η	
  συνάφειά	
  τους	
  με	
  άλλα	
  ήδη	
  	
  
επιλυμένα	
  μάς	
  επιτρέπει	
  να	
  θεωρούμε	
  ως	
  βέβαιη	
  τη	
  δυνατότητα	
  επίλυσής	
  τους.	
  
	
  Παράδειγμα:	
  Η	
  εύρεση	
  της	
  περιμέτρου	
  ενός	
  κύκλου.	
  
	
  Ανοικτά:	
  Είναι	
  τα	
  προβλήματα	
  για	
  τα	
  οποία	
  δεν	
  έχει	
  βρεθεί	
  λύση,	
  αλλά	
  παράλληλα	
  
δεν	
  έχει	
  αποδειχθεί	
  η	
  μη	
  ύπαρξη	
  λύσης	
  γι’	
  αυτά.	
  Ανοικτά	
  θεωρούνται	
  τέλος	
  τα	
  	
  
προβλήματα	
  που	
  μπορούν	
  να	
  λυθούν	
  με	
  τη	
  βοήθεια	
  ηλεκτρονικού	
  υπολογιστή	
  αλλά	
  	
  
η	
  επίλυσή	
  τους	
  απαιτεί	
  ένα	
  μεγάλο,	
  πρακτικά	
  μη	
  αξιοποιήσιμο	
  χρονικό	
  διάστημα	
  	
  
(χρόνια	
  –	
  αιώνες).	
  
	
  Παράδειγμα:	
  Η	
  απόδειξη	
  της	
  ύπαρξης	
  εξωγήινων.	
  
	
  Άλυτα:	
  Είναι	
  τα	
  προβλήματα	
  για	
  τα	
  οποία	
  έχει	
  αποδειχθεί	
  ότι	
  δεν	
  υπάρχει	
  λύση.	
  
	
  Παράδειγμα:	
  Η	
  επίτευξη	
  ταχύτητας	
  μεγαλύτερης	
  της	
  ταχύτητας	
  του	
  φωτός.	
  



Απόφασης:	
  Είναι	
  τα	
  προβλήματα	
  των	
  οποίων	
  η	
  απόφαση	
  που	
  πρόκειται	
  να	
  λη-­‐	
  
φθεί	
  ως	
  λύση	
  απαντά	
  σε	
  ένα	
  ερώτημα	
  και	
  πιθανόν	
  αυτή	
  η	
  απάντηση	
  να	
  είναι	
  
«Ναι»	
  	
  
ή	
  «Όχι»,	
  «Είναι»	
  ή	
  «Δεν	
  είναι»	
  κ.λπ.	
  
	
  Παράδειγμα:	
  Η	
  ερώτηση	
  «Σε	
  λένε	
  Μαρία;».	
  
	
  Υπολογιστικά:	
  Είναι	
  τα	
  προβλήματα	
  των	
  οποίων	
  η	
  απάντηση	
  απαιτεί	
  τη	
  διενέρ-­‐	
  
γεια	
  υπολογισμών.	
  Με	
  άλλα	
  λόγια	
  σε	
  ένα	
  υπολογιστικό	
  πρόβλημα	
  ζητάμε	
  να	
  
βρούμε	
  	
  
την	
  τιμή	
  της	
  απάντησης	
  που	
  ικανοποιεί	
  τα	
  δεδομένα	
  που	
  έχουμε	
  για	
  το	
  πρόβλημα.	
  
Παράδειγμα:	
  Δίνεται	
  η	
  ακτίνα	
  R	
  ενός	
  κύκλου	
  και	
  ζητείται	
  να	
  βρεθεί	
  το	
  εμβαδόν	
  του	
  	
  
κύκλου.	
  
	
  Βελτιστοποίησης:	
  Είναι	
  τα	
  προβλήματα	
  των	
  οποίων	
  η	
  λύση	
  πρέπει	
  να	
  είναι	
  το	
  	
  
βέλτιστο	
  αποτέλεσμα	
  για	
  τα	
  συγκεκριμένα	
  δεδομένα	
  που	
  διαθέτουμε.	
  Με	
  άλλα	
  
λό-­‐	
  
για	
  δεν	
  αναζητούμε	
  μια	
  οποιαδήποτε	
  λύση,	
  αλλά	
  τη	
  λύση	
  εκείνη	
  που	
  ικανοποιεί	
  με	
  	
  
τον	
  καλύτερο	
  τρόπο	
  τα	
  δεδομένα	
  που	
  παρέχει	
  το	
  πρόβλημα.	
  
	
  Παράδειγμα:	
  Να	
  βρεθεί	
  το	
  κλάσμα	
  του	
  οποίου	
  ο	
  αριθμητής	
  και	
  ο	
  παρανομαστής	
  	
  
είναι	
  ακέραιοι	
  και	
  μικρότεροι	
  ή	
  ίσοι	
  του	
  100	
  και	
  το	
  οποίο	
  προσεγγίζει	
  τον	
  αριθμό	
  
π	
  =	
  3,1416	
  με	
  τον	
  καλύτερο	
  τρόπο.	
  


